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In [1]:

from IPython.display import display, Image
import warnings
warnings.filterwarnings(action='ignore')

In [2]:

import pandas as pd

import numpy as np

from sklearn.model selection import train test split
import matplotlib.pyplot as plt

import seaborn as sns

HIO[E{ AU

o &=M H|o[H
o data: 1797%, 64712| pixel H[O|E
= images: 1797, 8, 8



o target : O~97tX|Q| &3 M 2k
o pixel : SEA(H2H|IH-HFE sHO| St E L Mot= (A THe)
= 3} O|0JX|S2 O O] ZIHX|X| b= Atzbge| 212 ME0| 201 O|RIZICt, o|ujf 0|0|X|E Fodst= E|A THe

LS
Aol2ta st

In [3]:

## O{Aels & flow
display(Image(filename='img/model validation pixelOl.png'))

]

]



In [4]:

from sklearn.datasets import load digits

digits = load digits()
print(digits.data.shape)
print(digits.keys(), digits.target)
print(np.unique( digits.target ) )
sns.countplot(digits.target)

(1797, 64)

dict keys(['data', 'target', 'frame', 'feature names', 'target names',
'images', 'DESCR']) [0 1 2 ... 8 9 8]

[01 234567 89]

Out[4]:

<AxesSubplot:ylabel='count'>

175 1

Target S O|ZIZI2E Q57|

CIo|E{ Ale| Target(ElZ!)S 9:12] HIEE LIF7|

o 90|™ True
o 97} OtL|™ False

In [5]:
X = digits.data # 2/8
y = digits.target == 9 # =9

X train, X test, y train, y test = train test split(X, y, random state=0)



In [6]:

plt.fiqgure(figsize=(15,6))
plt.subplot(1l, 2, 1)

# y train9 gl =2l
sns.countplot(y train)
plt.title("train")

plt.subplot(1l, 2, 2)
# y testl gt 2ol
sns.countplot(y test)
plt.title("test")

out[6]:
Text (0.5, 1.0, 'test')

train test

1200 A

1000 A

800 4

count
count

400 4

200 4

False Tue

02. Ctst Ao Wt 3
2312 0|57

« M&lT(accuracy) &l

02-01 7|2 22 DummyClassifier

o ZHCHSE 7RIS ARESI0] 0|2 &SIt
o AN Z2NMEO|M AMZSHA| 42, ZHCESH H|o| A2l BHEZ M AL EICE
« DummyClassifier(strategy='most_frequent') : &8 H|0|E| MOf|lA 71E B0| U= Label(2H)
= most_frequent : 7% 20| Q= Label@HE)S oS
= stratified : 22A 2XE EF5I0{ 0|52 Y
» uniform : REQE ZUSIHA G2 MY,

rulo
M
Q'E
o



= 7|E} : prior, constant
o Of2f BE2 71E B2 20|22 7IT FalseTt 0| S51A| EIC

In [7]:

from sklearn.dummy import DummyClassifier
dummy model = DummyClassifier(strategy='most frequent').fit(X train, y_ train)
pred most frequent = dummy model.predict(X test)

print ("O|FE 20|=2] I1RZt: {}".format(np.unique(pred most frequent)))
print ("HAE &7l HE . {:.2f}".format(dummy model.score(X test, y test)))

Ol=E 20|22 1RE: [False]
HIAE E7F =t : 0.90

02-02 DummyClassifierg 0|2%t 0l|=

o Oi7Ht= Q1S o] 7|2 S

» stratified : 22HA 22X E 1245101 0|5
o S2jAQ| 9:1 BEXE 7105101 0| =

In [8]

oo

dummy DummyClassifier(strategy='stratified').fit(X train, y train)
pred dummy = dummy.predict(X test)

print ("0|FE 20|22 1RZt: {}".format(np.unique(pred dummy)))
print ("HAE E7F & : {:.2f}".format(dummy.score(X test, y test)))

O|l==l 20|29l 1R4t: [False True]
HAE HWIob Fefz : 0.81

02-03 Al8| 2 - DecisionTreeClassifier

In [9]:
from sklearn.tree import DecisionTreeClassifier

tree = DecisionTreeClassifier(max_depth=2).fit(X train, y train)
pred _tree = tree.predict(X test)

print ("HAE HI7F He=: {:.2f}".format(tree.score(X test, y test)))

HAE HI7F M&T: 0.92

 DecisionTreeClassifier(QAHAFER|)2}t 7|2 22 dummy EF7|(SILIEH 0|F)2t d5Xt0(7t 72| giCt.

02-04 LogisticRegression(ZX|AE! 3|7]|) 2=



In [10]:

from sklearn.linear model import LogisticRegression

logreg = LogisticRegression(C=0.1).fit(X train, y train)
pred logreg = logreg.predict(X test)

M1

print("logreg ®: {:.2f}".format(logreg.score(X test, y test)))

logreg ®+: 0.98
SiL3L 6l S5te 7|2 BT 90% O|Ate| Mste & Zh=C.

+ 3to| BE0| O|Z0{M SISt oI S5HCIZtE BT} o L7 lof
- FETE RS YIHKEER AP0 258 20| Uk,

Y=t ool A

et

X|Z7t £910] ASM?

03 2x}3iE (confusion matrix)2 0|235}7|

ZxIZ 0|S517

In [11]:

import mglearn

In [12]:

mglearn.plots.plot binary confusion matrix()

negative class - I N

positive class F N

predicted' negative predicted positive

o o g

confusion_matrix € 0|88t 2XH(=3) eE +1517]



In [13]:

from sklearn.metrics import confusion matrix

confusion = confusion matrix(y test, pred logreg)
print("2xt &#E:\n{}".format(confusion))

QR WH:

[[402 1]
[ 6 41]]
In [14]:

mglearn.plots.plot confusion matrix illustration()

true 'not nine'- 4 O 1

true 'nine' 8

o s s e T ]

predicted"not nine' predictéd 'nine’

3-1 2t2te] OGS0 Tt QXHYUS Holsh)

o A2 &M S A(1=4:97t OfL|Ct, 228:90|Chofl SiEst, 2 o= 222 (1€:97t OfL|Ct, 2&:90|chof i



In [15]:
print ("BI= 7[|gF O] 2E.")

print(confusion matrix(y_test, pred most frequent))

print("\nF2¢| GOl 2™:")
print (confusion matrix(y test, pred dummy))

print("\nZd EZ|:")
print(confusion matrix(y_test, pred tree))

print ("\nZEX|AE] 3[F")
print(confusion matrix(y_ test, pred logreg))

gl 7|9t o] 2H.
[[403 0]
[ 47 011]

D19 ool 2,

[[368 35]
[ 43 411
24 Ezl:
[[390 13]
[ 24 23]]
ZX|AE 3|9
[[402 1]
[ 6 41]]

3-2 2R2| Ctdst WIIX|EE A7

o Mt (accuracy) : Al 2t SOl L0t} 0| S2 HaEtstA =712
o (HEhetA| oSS H)/(HH| TH=)
« YL (precision) : FH2 = 0| FE AF(TP+FP), TIW LH(TP)
o DIZ(sensitivity), "iSiE(recall) : TX| N METP + FN)SO|A L0t &

I'IO



In [17]:
## =5 Y

display(Image(filename='img/model validationOl.png'))

Actual(&H) = Y Actual(2H]) =

Predict(0l&)=Y

Predict(0l=)=N

Classification(27)2| W7IX|Z2E AT HX],
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& ol &(TP)
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Ztzto| odl of| =242 f1-score 0|

In [18]:

from sklearn.metrics import fl score

# HIEZZ[8F B9 f]1_score
print ("FA? OO 2ES[ £f1 score: {:.2f}".format(fl score(y_test, pred most frequent))

# Dummy=+& fl-score

print ("FA?| GO 2&S| f1 score: {:.2f}".format(fl score(y_test, pred dummy)))

# SJAEEELZ|
print("E2| 2O f1 score: {:.2f}".format(fl score(y test, pred tree)))

# ZEX[AE
print ("ZX[AE 3|7 ZHO| f1 score: {:.2f}".format(fl score(y test, pred logreg)))

222 o] 22Ol f1 score: 0.00
Bxie| O] BE9| f1 score: 0.09
Eg| PHO| f1 score: 0.55
Z2X|AE!l 3|7 REO| f1 score: 0.92

o EX|AE] 3|7 ZHO| 7HY E2 452 20 ECL

f1-scoreS QotsliAM HO{FE7|

« classification_report() : A2T, MBI E, f1-score= D5 SHHO|| ALt
 supports thaes| MEZo| 4

« macro avg : thed| SAH Hpo| W ALt

« weighted avg : 22fA2| MESE 715 Hrt

In [19]:

from sklearn.metrics import classification report
print(classification report(y_ test, pred most frequent,
target names=["not 9", "is 9"1]))

precision recall fl-score support

not 9 0.90 1.00 0.94 403

is 9 0.00 0.00 0.00 47
accuracy 0.90 450
macro avg 0.45 0.50 0.47 450
weighted avg 0.80 0.90 0.85 450

dummyClassifier 22



In [20]:

print(classification report(y test, pred dummy,
target names=["not 9", "is 9"]))

precision

not 9 0.90

is 9 0.10
accuracy

macro avg 0.50

weighted avg 0.81

S ZEEE]|

In [23]:

print(classification report(y test,

precision

not 9 0.94

is 9 0.64
accuracy

macro avg 0.79

weighted avg 0.91
EXAE| 317

In [24]:

print(classification report(y_ test,

precision

not 9 0.99

is 9 0.98
accuracy

macro avg 0.98

weighted avg 0.98

recall

fl-score

0.83
0.50
0.82

pred tree,
target names=["not 9", "is 9"1]))

recall

fl-score

0.95
0.55

o

.92
.75
.91

o o

pred logreg,
target names=["not 9", "is 9"]))

recall

fl-score

0.99
0.92

0.98
0.96
0.98

support

403
47

450
450
450

support

403
47

450
450
450

support

403
47

450
450
450
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